
 

Solutions

Solute Substance being dissolved Either
solid liquid or gas Substance in
Smaller amount

Solvent Usually a liquid usually
in greater

amount than the solute

solution Is the combination of the
solvent

solute
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How to make a solution determine

molarity
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Molarity
O 112 moles Nacl

0 112 molesNaCl

0.112 M1 Macleod
water
aq aqueous

I underline mean itallic

N molarity

11 molarity

meaning
0.112 mole NaCl I L solution
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Value in using solutions is that moles are

now tied to the volume of solutions

we no longer need molar mass to do

stoichiometry

s
I II Calculate moles for a given volume

Calculate the volume for a givenmoles

Roadmap stoichiometry
Cill Call Dilutions
MY Mak Serial Dilutions makingvery dilute
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Ex
3 27 g of Nacl is

dissolved in enoughwater to

make 500.0mL of solution What is
the concentration

of the solution in moles h Sol
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A chemical reaction is carried out using

29.23 mL of 0 1121 Nacl solution

Howmany moles of Nacl
were used in

the reaction

If desired
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How many mL of 0.1121 Nacl are needed

to di liver 0.955 moles of Nacl
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Reftitration
experiments

Pb No agt2Nacl
PbClaes 2 NaNosed

A reaction isperformed using 21 2mL of 0 112M

aqueous sodium Chloride and excess
lead e nitrate

Howmany grams of lead chloride will be formed

Pb No agt2Maclay PbClaes 2Hanged
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Closer look at w w v v and

relationship between density and concentration

w w weight to weight
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W V volume to volume
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Ex

A solution consistsof 232 6 g alcohol and 423.2g
of

water Calculate the gowns of alcohol
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Ex

A person consumes 3 glasses of
wine totalling

fwiné If the wine has

a concentration of 11.5 vfx of alcohol
how

many uh of alcohol did they
consume

450 uh solution

11.5 w u alcohol 11.5mLalcohol 100mLSol

ml alcohol

ML Sol 45 mL alcohol

450 untwine solution x Écgg gg51.748mLalcohol

51.8mhalcohtI



Concentratedhydrochloricacid has a density of

118glml and is 36 w w dissolved HCl

what is the molarity of the concentrated acid

Given
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A stock solution of Naczitzoz of 2.600 M1 is

Used to make 500.0 mL of a 0.2361
Solution of Maczitsa Howmany mL of thee

É
500.0mL
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